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SOCIAL SCIENCE
Full Marks — 80
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Time : Three hours

The figures in the right hand margin indicate full marks for the questions.
SECTION - A
(GEbGRAPHY)
Marks -27

Answer Question Nos. 1 and 2 in a senience each.

| 1. Why does India import huge quantity of crude oil fromabroad ? 1 '
S ARG CeCIReT TS T CIRERT SR 2
’ 2. Which part of India is affected very often by tropical cyclones ? 1

TR I G| (AHCTST I~ AP I CORMT CHIIPReAACH 7

? Answer Question Nos. 3 to 5 in about 30 words each.

/3. Whatarethe geographical conditions favourable for the cultivation of jute ?

" : _ Z
e A pRESTRT STER @23t Freufi wy R ?

f 4.  Point out two distinguishing features between the National Highways and

» | the State Highways of India. 3

‘ sG] TR SR TERe e ST (R ORI @ (AR T o8 SRS O |

| i Crantd




To whic

2
Manipur belong and why ? ,7

oo Lo GRS R R T T, el befatal e wleneat 7
(LR

Draw a full page outline map of India, and locate and label therein th
following : 1+1 2
AT A SRER! (N S (RS, S ) S e e e Ay ARG g e‘
Bhilai Steel Plant
Answer Question Nos. 7 to 10in about 50 words each.
7 Write an account of the multipurpose projects taken up on the Sutlej, th

Mahanadiand the Chambal rivers in India.

i 2 qaeforar wiED -saere CArceBiEaT ﬂﬂ
Srae T e, TR SR B PURE T AR

P |

"*Y

y ; v{
8. Explainthe main characteristics of the evergreen, the deciduous and v

thorn forests of India in respect of climate and natural vegetation.

e i, o PR Ca SR R e SR R

e TR - NCSIRIGY MTCTE] O |
- . , y
o State the difference between primitive subsistence farming and commer
farming by giving three points.

e Rififos @3 G PR T - 5@ e @%ﬁﬁt CUEAT NG O

Frgsl OFDS |
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sh cat of industries do the candle manufacturing unitsg 10. Suggost throe measures that would be taken up for the conservation of
category

mineral resources of India. 3

SO [l o Ce- Ficerar negn Mt Memaamine TR R SR
BB |

Answer Question No. 11 in about 120 words.

Explain why the sugar industry is shifting from north towards south India in

the last few years. 5

caifrar val wabi ol wead 2wpR S -SReEET @IFRRE W !
GG |

Or

In what ways are the industries responsibie for causing water pollution in
India ?

Sl B refHermaas G B waw s Tew cSTe 2

SECTION-B
(HISTORY)
Marks -27
Answer Question Nos. 12 to 15 in about 50 words ea;‘h.
How did the Congress protest against the Pariition of Bengal in 19057 3 )
4891 g 1905 © e AREARR (Partition of Bengal) Scaret S 3=l
Al BRI 2
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13, Write the full forms of : 9 Answer Question Nos. 17 to 19 in about 30 words each.
(a) MISCO 17. What is meant by industrialisation ? )
(b) TISCO Ty foneae A CATSHe (industrialisation)maﬁasﬁm ?
(c) 18CO 18. “Books are treasure houses of knowledge and answers.” Justify the
(a) fmr (MISCO) statement by.giving two points. 2
(b) o= (TISCO) <oriafraRiET G SRR TG “{a S TR P QT T R 2R B |
(c) T (1ISCO) ‘( 19. Name the second and the third Presidents of the United States of America.
e i o R | | 1+1=2
14. “Among the countries which foughtin the First World War, Germany was RTIRU CEB G SHICHPIN SRS TR S coffrorReg 2 2 |
the most affected country.” Justify the statement in three points. 3 Answer Question Nos. 20 and 21 in a sentence each.
o R ST e o CERTE R, T eRCiCH ’J@%C@T ol 17 gy | 20. “The ideology of liberalism was closely linked with nationalism”. Justify the
5 5% 2 TN Ry e | ~ | ! statement by giving one point. 1
15 State three main effects of Japanese bombing of Imphalin 1942. 3 et LT (hberahsm)ﬂ@mwmewmmwﬁm Tefeg TR
oA gfic 1942 1 ST TE T R T G T RIS T | e e S T R A T o g v o R T e
21. Whatis meant by “Purna Swaraj” ? 1
16. On the map of India drawn as answer to questlon No. 6 (of Geography
portion), locate the places with name, where : 1+1=2 qog A1 AT (Purna Swaraj) R Gl 2
(@) Thefirst session of the Indian National Congress was held Answer Questlon No. 22 in about 120 words.
(b) Mahatma Gandhi broke the Salt Law i 22. How did Germany become a uriified country in 1871 ? S
ars = 69 (of Geography portion) AT G T SIS (e Sl <2 e 1871 1 <ol S{ET SRR ORI Sl G et ?
SR S e S SaRar (TR S ¢ ‘ or
(a) 2w GRS e S A T | 1 How did ltaly become a unified country in18717
: | : »
() ST ST e S YRR : z{ﬁqwﬁHSHWiﬁﬁmmfﬁﬁmmw.mmﬂ?
87 RM 21 S/Sc. (N) 4 Contd. | 87 RM 21 s/sc. (N) - 5 Contd. -




SECTION-C
(POLITICAL SCIENCE)

Marks — 13

Answer Question Nos. 23 to 25 in a sentence each. i

03. |dentify the action taken up by the Government of India to solve the log

percentage of women participation in politics. i

A A TN T T RFORZE THO AP cerefar clen wy W

TIFE |

24. Analyse one reason showing that majority and minority opinions are rg

permanent in democracy.
steraEH] ST Wl SIS T WAEAA PR W (AT 2 Gesaal s ol G

25. Give one point of advariage of local self-government.

(T e SRR A IR SR e ol A |

Answer Question No. 26in about 30 words.

26. In what way doss casie system play a progressive role in modernisirg
1x 25

indian society 7

< S5 RS ] TR ST AR Bl DG O Cqg T b

Answer Question No. 28 in about 100 words,

::,5328. Explain five important functions of the political parties in a democratic

government,
1x5=5

oATE N AL il Al v T G W TeriE M O |
SECTION-D
(ECONOMICS)
Marks—13

Answer Question Nos. 29 to 31 in a sentence each.

| 29 Which sector contributes most to the economy of Manipur among the three

sectors ?
1

mﬁawﬁrﬁmwmﬁmwﬁ?ﬁ%m@mﬁwm%ﬂ ?

. Despite sharp fall in the share of primary sector in GDP, the proportion of

workers in agriculture remains high in India. Why ? 1

SIS Sl e AR GrEaa M 2] 2 - Pese PR
S 1] G | SR 7

. Give one example to show that Indian economy has been globalising rapidly

Answer Quesiion No. 27 in about 50 words. since the initiation of reforms. 1
27. State vertical power sharing taken at three different levels. 1x 34 - ' ’ -
: AR T SIS AR R AT
: BiR Y12 BISETS TR Y
ST ORI (OIS NG S ¥ g T | | Bt |
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32.

33.

34.
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Answer Question No. 32 in about 30 words.

How can Indo-Myanmar Trade Treaty as a part of Look East Policy transform |
the economy of North-East Region ? Give two points. 21

] - SAATE STCAR RR AT S FRRI CAICARCE e T x|
S SIICAICATS ST B SIGIT AT SR 7 WISl A |

Answer Question No. 33 in about 50 words.
Write three functions of the Reserve Bank of India. 1x 3=3
feend (o orp SN A SR N oy |

Answer Question No. 34 in about 1 00 words.
Explain any five indicators of development in a country. 1x5=5

IS A IS SR T WS T TG |




